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[E%X] ()%

I,,+2_Il+2:> -4 y|(-x*:-_2) y|(ty2_6)
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(2) a<—2&Ha>\2

) (D2 h(x)=x—x>—sinx, h(0)=0, h'(x)=1-2x—cosx, h'(0)=0,
H'(x)=—2+sinx <0, FiLLA(x)7E(0,1) H ik,

50 <x <18, A(x) <H(O0)=0, FTLhh(x) 75 (0,1) F i,

FrA40 < x <10, A(x) <h(0)=0, FrLAO<x<1Bf, x—x* <sinx

% g(x)=x-sinx, g(0)=0, g'(x)=1-cosx=0,

AITLA g(x) 15 (0,1) B i3,

bl 0<x <1, g(x)>g(0)=0, FrLA0<x<1if,sinx < x
(z)f(.x):cusax—hl(l—xz),

fx)=cos(-ax)~In(1-x) = f(x), FiLh ) HBEA.

f"(x):—asinax+12x,, r f(O)=0,
_x"
J'(=x) =—asin(—ax) + l_‘?‘xz =—f"(=x), FibL f'(x) N7reh L.
— X
2
f"(x) =—a’ cosax+ 2+2f,, , (0)=2—-a""
B—-x")

4(1—-x*)+8x(1+x%)
(1-x%)’ ’

f""(x)=a’ sinax+
12-a?>0, —2<a<28, f0)=2-a>>0,
St=min(,2) . B0<x<th, f"(x)>0. f"(x)7(0,r) HilH,
a
S"(x)>f"(0)>0,
S1()FE(0,0) BB, f'(x)> f'(0)=0, f(x)7E(0,0) BN, Hx=04 f(x)

WRAE T )&

a>J28, 4t=min{,~) %0<x<t, (X)) >0, f(x)TE(0,7) FiHHM,
d
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e R . i 5 2+ 2x
lxli".t;lf (x)—!i];t(—a COS ax + 1—2)

) =+00,

il 3x, € (0,¢) . 1443 f"(x,) =0, FitlYxe(0,x,)i, £ f7(x)<0,
()1 (0, x,) BRI, f(x)< f1(0)=0, f(x)7E(0,x,) HIEH,

B £1(x) NAFREL, FTBAE (—x,,0), f'(x)>0, f(x)7E(=x,,0) 5 i i,
BiBA x =0 & £(x) MR A 5.

Fx) MRS, FLlEEa <—V2 0, x=04% f(x) BRI A,
42-a=0, a=—28a=V21, f"(0)=2-a>=0,

a=\21, f'(x)=—=v2sin/2x+ 2X_ xe(0.DH,

1-x°

-1)>0,

£1(x)>—2x+ 2‘”2 sl
1—x l1—x

2

£ (0,1) f(x) Fifiid, 5x=0=& f(x) PR KESTE.

F(x) NiBES, oA a=—V2 1, H5x=02 f(x) KA 2 BT )E .

2 AR, a TEER a<—V2 ®a>\2




